
FOOT WEAR DE SIGN AND PRODUCTION

\w$Q>dr`a {S>OmBZ Eo S> ‡moS>äeZ

(716)

Time : 3 Hours ] [ Max i mum Marks : 100

g_` : 3 K Q>o ] [ nyUm™H$ : 100

Note : All questions are compulsory.

{ZX}e : g^r ‡ÌZ A{Zdm ©̀ h¢ü&

1. Fill in the blanks : 1×10=10

[a∫$ ÒWmZmoß H$s ny{V© H$s{OE :

(a) There are two basic types of shoes; sandal and ——.

OyVo _wª`VÖ Xmo ‡H$ma Ho$ hmoVo h¢; g¢S>b Am°a —— ü&

(b) Hide can be divided into different parts for ——.

—— Ho$ {bE Imb H$mo {d{^fi ^mJm| _| ~m±Q> gH$Vo h¢ü&

(c) —— is to aid insertion of foot into the shoe.

—— OyVo _| n°a S>mbZo _| _XX H$aVm h°ü&

(d) Joint measurement is around the —— and the outside joints.

—— Am°a ~mhar gp›Y Ho$ Mmam| Amoa Ho$ _mnZ H$mo gp›Y _mnZ H$hVo h¢ü&

(e) The toe of the last forms the shape of the —— where the maximum

activities take place.

bmÒQ> H$m Q>mo AmH$ma ~ZmVm h° —— Ohm± A{YH$V_ {H´$`mE± hmoVr h¢ü&

(f) French binding involves —— steps.

\´$|M ~mBßqS>J _| bmJy h¢ —— MaUü&

(g) The —— of upper and lining is the first step in shoemaking.

OyVm {Z_m©U _| nhbm MaU Ana Am°a bmBqZJ H$s —— h°ü&

(h) In folding skive —— of the thickness of leather is skived.

\$mopÎS>®J> ÒH$mBd _| —— _moQ>mB© M_ãS>o H$s N>±Q>mB© H$s OmVr h°ü&
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(i) ‘Gross Area (G)’ calculation formula for a full grain side is G = ——.

nyU© XmZoXma ^mJ Ho$ "gH$b joÃ\$b (G)' H$s JUZm H$m gyÃ h° G = —— ü&

(j) There are —— bone in feet.

n°a _| —— h{»>`m± hmoVr h¢ü&

2. State whether the following statements are True or False : 1×10=10

{ZÂZ{b{IV _| go ghr Am°a JbV ~VmBE :

(a) There are three basic variations in toe shapes.

Q>mo AmH$ma H$s VrZ _yb {d{dYVmE± h¢ü&

(b) A counter is placed on the side of a shoe.

OyVo Ho$ ~Jb na H$mC›Q>a flboÒS>> hmoVm h°ü&

(c) The skeleton of foot is divided into 4 parts.

n°a H$m Hß$H$mb 4 ^mJmoß _| {d^m{OV h°ü&

(d) The Brannock is based on heel to ball measurement.

~´mZZm±H$ hrb go ~m∞b _mnH$ na AmYm[aV h°ü&

(e) Heel, waist, ball and toe are four sections of last.

hrb, doÒQ>, ~m∞b Am°a Q>mo bmÒQ> Ho$ Mma I S> h¢ü&

(f) Leather is permeable and plastic.

M_ãS>m n_u~b Am°a flbmpÒQ>H$ h°ü&

(g) Boxing is used to strengthen Oxford shoe.

Am∞äg\$moS>© ey H$s _O~yVr Ho$ {bE ~m∞päg®J ‡`moJ H$aVo h¢ü&

(h) In slip last construction the last is inserted after the upper attached to the 

insole.

pÒbn bmÒQ> {Z_m©U _| Ana H$mo Bßgmob go OmoãS>Zo Ho$ ~mX bmÒQ> KwgmB© OmVr h°ü&

(i) Clicking is assembling the components of upper by stitching.

päbqH$J Ana Ho$ ^mJm| H$mo {gbmB© ¤mam OmoãS>Zm hmoVm h°ü&

(j) Bottoming is attachment of the lasted footwear to the sole.

~m∞Q>mo>q_J bmÒQ> {H$ ò \w$Q>dr`a H$mo gmob go OmoãS>Zm hmoVm h°ü&
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3. Answer the following questions : 2×20=40

{ZÂZ{b{IV ‡ÌZm| Ho$ CŒma Xr{OE :

(a) Write upper part names of Derby shoe.

S>~u OyVo Ho$ D$nar ^mJm| Ho$ Zm_ {bI|ü&

(b) What do you mean by ‘Mean Form’?

"_rZ \$m∞_©' go Amn ä`m g_PVo h¢?

(c) What is the use of Hydraulic Cutting Machine?

hmBS¥>mo{bH$ H$qQ>J _erZ H$m ‡`moJ ä`m h°?

(d) How is Jodhpur shoe different from Boot?

"OmoYnwa ey' ~yQ> go H°$go {^fi h°?

(e) Which type of material is used for ‘last’ making?

"bmÒQ>' ~ZmZo Ho$ {bE {H$g gm_J´r H$m ‡`moJ hmoVm h°?

(f) What is the difference between toe point and seat point?

"Q>mo' nm∞B›Q> Am°a "grQ>' nm∞B›Q> _| A›Va ~VmBEü&

(g) Which is the largest bone?

H$m°Z-gr h»>r g~go ~ãS>r hmoVr h°?

(h) Write the parts and positions of men’s Oxford.

_X© Am∞äg\$moS>© Ho$ ^mJ d pÒW{V`m± ~VmBEü&

(i) What is shank and why is it used?

e°›H$ ä`m hmoVm h° Am°a BgH$m ä`m Cn`moJ h°?

(j) How an insole is developed from foot impression?

n°a Ho$ {ZemZ go BZgmob H°$go ~ZmEßJo?

(k) What type of machines are used for stitching components?

H$ÂnmoZo›Q≤>g {gbmB© Ho$ {bE H$m°Z-H$m°Z gr _erZ| ‡`moJ _| bmB© OmVr h¢?

(l) What is closed seam?

äbmo¡S> gr_ ä`m hmoVr h°?
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(m) What is edge treatment?

{H$Zmam| H$m CnMma ä`m h°?

(n) Explain underlapped skive.

AßS>ab°n≤S> {N>bmB© Ho$ ~mao _| ~VmBEü&

(o) Write the needle parts.

gwB© Ho$ ^mJ ~VmBEü&

(p) How will you mark size 8 with notch?

Zm∞M ¤mam gmBO 8 H$m {M›h H°$go bJmEßJo?

(q) Write down the step of finishing and packing.

{\${ZqeJ Am°a n°qH$J Ho$ MaU ~VmBEü&

(r) What is the second waste?

{¤Vr` ~~m©Xr ä`m hmoVr h°?

(s) What will be the % wastage on ‘B’ grade leather?

"B' loUr Ho$ M_ãS>o _| {H$VZr % ~~m©Xr hmoJr?

(t) What type of system is used for pattern scale area calculation?

n°Q>Z© ÒHo$b E[a`m H$s JUZm Ho$ {bE {H$g {d{Y H$m ‡`moJ hmoVm h°?

4. Answer the following questions : 10×4=40

{ZÂZ{b{IV ‡ÌZm| Ho$ CŒma Xr{OE :

(a) What type of materials are used in making shoe? Explain.

OyVm ~ZmZo Ho$ {bE {H$Z-{H$Z gm_{J´̀ m| H$m ‡`moJ hmoVm h°? Ï`mª`m H$s{OEü&

(b) Write basic type of footwear used in industries. Explain.

\w$Q>dr`a Ho$ AmYma^yV ‡H$ma Ho$ ~mao _| Ï`mª`m H$s{OE Omo OyVo C⁄moJ _| ‡`moJ hmoVo h¢ü&

(c) What is skiving? Explain type of skive with drawing.

{N>bmB© ä`m hmoVr h°? {N>bmB© Ho$ ~mao _| {MÃ g{hV Ï`mª`m H$s{OEü&

(d) Explain pattern scale by 180° method.

180° {d{Y ¤mam n°Q>Z© ÒHo$b H$s Ï`mª`m H$s{OEü&

H H H
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